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/* function read_data */

/* */

/* Purpose : reading input datas x/

/* */

/x s ERERE

fr=mmmmmmmmm e

/* ——— header files
#include <stdio.h>
#include <string.h>
#include <stdlib.h>
#include <math.h>
#include "laplace.h"
#include <time.h>

x/

10

fr===m=mmm—m===mmm——ee

/* function read_data */

[

#include <wector>
using mamespace std,

void gauss(int nodes,vector < vector < double > > c,double area[],double phi[]);

int calculate_laplace_eq(int elements, int nodes,
int mtj[][4], int jac[][4], int idm[],
double pz[], double py[],
int pt_bc_k[], double pt_bc_v[],
double area[], double phi[])

vector < wvector < double > > ¢;

int 4,5,0n;

int £=0,a=0,b=0;

double delta,d,d1,d2,d3,ds:

double pz_z[4],py_y[4];

double alfa[5000],beta[5000], ganma[5000];
double er[5000],ez[5000];

/=0000 %/

c.resize (nodes+1);

for(i=1; i<=nodes; i++){
c[i].resize(nodes+1);
phi[i]=0.0;
area[i]=0.0;

13



alfa[:]=0.0;
beta[i]=0.0;
ganma[i]=0.0;
er[i]=0.0;
ez[i]=0.0;

}

/xcalculate deltax/
for(i=1; i<=elements; i++){
d1= px[mij[i][1]](py[mi[i][2]]-py[mi [i][3]]); 60
d2= px[mij[1][2]]«(py[mt;[][3]]—py[mtj[][1]]);
d3= px[mi;j[1][3]]+(py[mtj[i][1]]—py[mtj[][2]]);
ds=(py[mtji[d][1]]+py[mti[i][2]]+py[mii[i][3]])/3.0;

delta=1.0/(2.0x(d1+d2+d3));
d=dsx4.0xatan(1.0)xdelta;

/0000000 «/
pr-z[1]=(pz[mij[][3]]—pz[mt;[][2]]);
py-y[1]=(py[mij[i][2]] - py[mi;[i][3]]); 70

pz-z[2]=(pz[mij[][1]]—pz[mit;[i][3]]);
py-y[2]=(py[mtj[i][3]]—py[mti [{][1]]);

pz_z[3]=(pz[mtj[i][2]] —pz[mtj[i][1]]);
py-y[3]=(py[mtj[i][1]]—py[mti[:][2]]);

for(j=1; j<=3; j++){ 80
c[mtj[i][5]][mty [{][1]]+=deltax(pz_z[1]*pz_z[j]+py-y[1]*py-y[5]);
c[mij[a][j]][mtj [i][2]]+=deltax(pr_z[2]* pr_z[j]+py-y[2]*py-y[5]);
, c[mtj[1][5]][mt; [] [3]]+=deltax(pz_z[3]+pz_z[j]+py-y[3]*py-y[5]);
}

/+the right side of an equation & dirichlet conditionx/
for(i=1; I<=nodes; I++){
if(pt_be_k[l] == 1){ 90

for(n=1; n<=nodes; n++){
c[!][n]=0.0;

c[l][l]=1.0;
area[l]=pt_be_v[l];

100
clock_t t_start=clock();

gauss(nodes, c,area,pht);

/xcalculate Static Electric Field x/

for(i=1; i<=elements; i++){

d1= px[mij[i][1]]+(py[mij[i][2]] - py[mi; [i][3]]);

d2=pa[mij[i][2]]+(py[mt; [i][3]] - py[mij [d][1]]);

d3= px[mij[i][3]]+(py[mtj[i][1]—py[mi; [i][2]]); 110
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delta=1.0/(2.0x(d1+d2+d3));

alfalmtj[i][1]] =deltaxphi[mts[:][1]];
beta[mtj[i][2]] =deltaxphi[mij[i][2]];
ganma[mij[i][3]]=deltaxphi[mtj[:][3]];

/* a boundary conditions/
for(n=1; n<=nodes; n++){
k=0;
for(i=1; i<=elements; i++){
for(j=1; j<=3; j++){

if(n == mlilG11

if ( py[mij[i][1]]==0.0){

a++;

telse if(py[mtj[i][2]]==0.0){
a++;

telse if(py[mt;j[:][3]]==0.0){
a++;

}

it (ptbe Kt li][1]]==1){
b++;

telse if(pt_bc_k[mtj[i][2]]==1){
b+

telse if(pt_be_k[mtj[i][3]]==1){
b+

}

if(a>=2 && b>=2 || al=1 && b!=1){
k++;

er[n]—=ganma[mi[][7]];

ez[n] —=beta[mtj[i][j]];

}
}

er[n]/=k;
ez[n]/=k;

}

/*output filex/

FILE xsol=fopen("test.field","w");
forintf (sol,"$field\n");

for(i=1; i<=nodes; i++){

}

forintf (sol,"%ha\t %1f\t %1f\t %1f\n",iphi[i], er[d], ez[3]);

forintf (sol,"$end\n");
felose(sol);

printf ("\n%ld\n",(clock()—t_start)/1000000);
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return (0);

/+000000000 %/
void gauss(int nodes, vector < vector < double > > c,double area[],double phi[]){

180
int 4,75k;
double s;
for(k=1; k<=500; k++){
for(i=1; i<=nodes; i++){
5=0.0;
for(j=1; j<=nodes; j++){ 190
i£(i1=){

s+=cli][j]+pha[j];
}

phi[i]=(1.0/ c[i][i])*(area[i]—s);
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